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Math 221: Quiz 7 - 6/13/14

Solve the following problems. Please use a pencil if possible.

1. Use long division adendate 20144, = 13400 [25 Points]
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2. Determine which of the numbers 2, 3, 4, 5, 6, 7, & 9, 10, and 11 divide the number 2475 { using
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divisibility fests. Briefly explain each munber. [50 Poiuts)
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3. Determine if the number 143 is prime or composite. Show each of the values that yon check, but you
do not have to show divisibility tests. (Hint: The square root of 143 is about 11.96.) [25 Points]
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